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11. Series Pipeline System

Chapter Objectives

Identify series pipeline systems.

Determine whether a given system is Class I, Class I, or
Class llI.

Compute the total energy loss, elevation differences, or
pressure differences for Class | systems with any
combination of pipes, minor losses, pumps, or reservoirs
when the system carries a given flow rate.

Determine for Class Il systems the velocity or volume flow
rate through the system with known pressure differences and

elevation heads.

Determine for Class lll systems the size of pipe required to
carry a given fluid flow rate with a specified limiting pressure
drop or for a given elevation difference.
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11. Series Pipeline System
11.1 Introductory Concepts

e System analysis and design problems can be
classified into three classes as follows:

Class | The system is completely defined in terms of
the size of pipes, the types of minor losses that are
present, and the volume flow rate of fluid in the
system. The typical objective Is to compute the
pressure at some point of interest, to compute the
total head on a pump, or to compute the elevation of a
source of fluid to produce a desired flow rate or
pressure at selected points in the system.
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11. Series Pipeline System

11.1 Introductory Concepts

Class Il The system is completely described in terms

of its elevati

ons, pipe sizes, valves and fittings, and

allowable pressure drop at key points in the system.
You desire to know the volume flow rate of the fluid

that could b

e delivered by a given system.

Class lll The general layout of the system is known

along with t
the pipe rec

ne desired volume flow rate. The size of
uired to carry a given volume flow rate of

a given fluic

IS to be determined.
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11. Series Pipeline System
11.1 Class | Systems

 Fig 11.1 shows the series pipeline system.
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11. Series Pipeline System
11.1 Class | Systems

The energy equation for this system, using the
surface of each reservoir as the reference points, Is
P i P2 o3

T+E]+¥+IIA—hL=T+EE+§ (11-1)

 The term h, is the energy added to the fluid by a
pump. A common name for this energy Is total head
on the pump, and it is used as one of the primary

parameters Iin selecting a pump and in determining its
performance.
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11. Series Pipeline System
11.1 Class | Systems

 The term h, denotes the total energy lost from the
system anywhere between reference points 1 and 2.

 There are typically several factors that contribute to
the total energy loss.

« Six different factors apply in this problem:

.IFL:.IFJ +1|T’12+.;f3+1f’i'4+.;15+}?5 (11-2)

h; = Total energy loss per unit weight of fluid flowing
h, = Entrance loss

h, = Friction loss in the suction line

hy = Energy loss in the valve

hy = Energy loss in the two 90° elbows

hs = Friction loss in the discharge line

hs = Exit loss

©2005 Pearson Education South Asia Pte Ltd



11. Series Pipeline System
Example 11.1

Calculate the power supplied to the pump shown in Fig.
11.2 if its efficiency is 76 percent. Methyl alcohol at 25°C
is flowing at the rate of 54m3/s. The suction line is a
standard 4-in Schedule 40 steel pipe, 15 m long. The
total length of 2-in Schedule 40 steel pipe In the
discharge line is 200 m. Assume that the entrance from
reservoir 1 is through a square-edged Inlet and that the
elbows are standard. The valve is a fully open globe
valve.
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11. Series Pipeline System
Example 11.1

Using the surfaces of the reservoirs as the reference
points, you should have

i U1 P2
—-I—E.'l-l——-l-hﬁ—f?L——-FEE-l-—
¥ 2g lg

The equation can be simplified to
| + "T.-’l — E;_ = In

The total head Is

hy =2 — 2+ g
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11. Series Pipeline System
Example 11.1

Your list should include the following items. The
subscript s indicates the suction line and the subscript d
Indicates the discharge line:

h = K [I-;?..-"Zgl (entrance loss)

hy = foL..-"DHz-_:?l.-"lg]l (friction loss in suction line)
hy = far(L./D)u3/2g)  (valve)

hy = far(L/D)v3/2g)  (two 90° elbows)

hs = f4L/D)( I'i,.-"f,E']' (friction loss in discharge line)

he = 1.0(v3/2g)  (exit loss)
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11. Series Pipeline System
Example 11.1

Because the velocity head in the suction or discharge
ine Is required for each energy loss, calculate these
values now.

54.0m- | hr

= ", = 0.015m’fs
¢ hr 3600 s
) 0.015m’ |
g = 0 = b —— — L.Bims
A & R.213 = 107" m~
E i
i (1.83)°
= = m = .17 m
2g  2(9.81)
) 0.015m° 1
iy = Q = . T — 0.92m/s
A4 s 2,168 = 10" m*
7 i
13 (692
d _ m = 244 m
2¢  2(9.81)
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11. Series Pipeline System
Example 11.1

To determine the friction losses In the suction line and
the discharge line and the minor losses In the discharge
ine, we need the Reynolds number, relative roughness,
and friction factor for each pipe and the friction factor in
the zone of complete turbulence for the discharge

ine that contains a valve and pipe fittings. Find these
values now.
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11. Series Pipeline System
Example 11.1

For methyl alcohol at 25°C,

vDp  (1.83)(0.1023)(789)
m 5.60 X 107

Np = = 2.64 ¥ 1P

For steel pipe, e=46x 107m

Dje = 0.1023/(4.6 % 107°) = 2224
Np = 2.64 % 10°

From moody diagram, f, = 0.018
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11. Series Pipeline System
Example 11.1

In the discharge line, we have

vDp  (6.92)0.0525)( T89)
n 560 * 10

Ng = = 5.12 X 10°

and
Dfe = 0L0525/(4.6 x 107°) = 1141
Np = 5.12 = 10°
£ = 0.020
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11. Series Pipeline System
Example 11.1

We can find from Table 10.5 that fy; = 0.019 for the 2-in
discharge pipe in the zone of complete turbulence.
Returning now to the energy loss calculations, evaluate
h,, the entrance loss, in Nm or m.

The result iIs hy = 0.09m. For a square-edged inlet, K =
0.5 and

hy = 0.5(v:/2g) = (0.5)(0.17 m) = 0.09 m

-
i

= fX x5 D )o0.7
2 =1 X % 5 T I\ ooas )™

-

=

0.1023

hy = {D,{}IB}( ){'D.I?}m = 045m
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11. Series Pipeline System
Example 11.1

From the data in Chapter 10, the equivalent-length ratio
L./D for a fully open globe valve is 340. The friction
factor is 0.019. Then we have

L 3
by = fir X — X —% = (0.019)(340)(2.44)m = 15.76 m
D 2g

For standard 90° elbows, L./D = 30. The value of f, Is
0.019, the same as that used In the preceding panel.
Then we have

L U3
hy = 2fir X E" X = = (2)(0.019)(30)(2.44)m = 2.78 m
2¢g
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11. Series Pipeline System
Example 11.1

The discharge-line friction loss is

—

'{'d 2

0.0525

L
ﬂﬁ:fd}{ﬁ}{’y

= {ﬂ.ﬂﬁﬂ}( )[E.44}I1‘| = 1859m

The exit loss Is
he = 1.0(v3/2g) = 2.44m
The total loss Is

ftL = f![ + hg + ff; + f?_-; + J;I:T. + f?t',
hy = (0.09 + 045 + 15.76 + 2.78 + 1859 + 2.44)m
hy = 2074 m
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11. Series Pipeline System
Example 11.1

From the energy equation the expression for the total
head on the pump Is

fu"dl — Z3 — I + f.’j_
Then we have
by = 10m + 2074m = 2174 m

The required power is

havQ B (217.4my(7.74 X 10° N/m” W0.015 nrﬂ“s}
Epg 0.76

Power =
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11. Series Pipeline System
11.2 Spreadsheet Aid for Class | Problems

 The use of a spreadsheet can improve the procedure
dramatically by doing most of the calculations for you
after you enter the basic data.

 Figure 11.3 shows one approach.

 The data shown are from Example Problem 11.1,
where the objective was to compute the power
required to drive the pump.
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11. Series Pipeline System
11.2 Spreadsheet Aid for Class | Problems
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AFPLIED FLUID MECHANICS

CLASS | SERIES SYSTEMS

Cbjechive: Pamp Power

Example Problam 71,1

Rafarmnos pants for e @nangy equanc
Paint 1: A% surface of lowar raserveir

Figura 11,2 Point 2: A% surface of uppar resenoir
Systam Data: 5] Matric Units
Vidume fow rale: O = 0L 5 s Eiwvation at poinf 1= Gm
Pressures & paint 1 = 0 kP Eiwvation at poinf 2 = 16m
Pressure af paint 2 = 0 kPa | T Fal, pf, /5 i pipa; S6t vi = B20° OR 56 V2 = E20-
Velocily & paint 1 = pmds—+ | Vialhead at peant 1 = im
Velogily &l paint 2 = D v —+ via| hizad at poirt 2 = Gm
Flwid Prapertias: May naad 1o compuie ¢ = nip
Speciic walght = Fr4Rtm® Hinematlc wiscosily = 7 10E-07 mis
Pipe 1: Pipo 2:
Diamuder- 0= 07023 m Diamader D= 00528 m
Wil ravghness: s = 4 80E05 m Wail roughness: s = L6005 m  [See Toble 8.2]
Langth: L = 18 m Langth: L = 20 m
Mraac A = B 22501 m frmnc 4= 21600 m* [A = nD4)
Dis = 2 Die = 1141 Relativn roughness
Lih= 147 o= 810
Flow walacity = 182 mis Flow wvalocity = E53 mis [v=004)
Valacity head = 0170 m Valocity head = 2447 m [v¥ig)
Royniolds Mo, = 2 §83E+06 Ruoynolds Ma, = 6, 13E+0& [P = wilvie]
Fricton factor- f=  0,0182 Frcton factor- f=  0,0158 Using Eg, 8-7
Energy Lesses in Pipe T; Qly.
Pipe: Ky = fLD) = 267 i Erergy loss iy, = 0453 m  Friclion
Enlrancs ioes: Ky = o050 1 Emgigy loss by o= 0.085 m
Elaman! J: Ky = o0 i Erergy loss fy .= 0.000m
Elamar 4: K, = oae 1 Ergrgy loss iy = 0.000 m
Elamand 5 Kz = oap 1 Erergy loss iy = 0,000 m
Elamar B Kz = o0 i Ergrgy loss by = 0.000 m
Elaman! T Ky = oae 1 Emaigy loss by - = 0.000
Elamarn! 8 Ky = 0.0 i Erergy loss by = 0,000 m
Energy Losses it Pipe I Qly,
Pipe: Ky= HLADp= 75,35 1 Emergy loss by = 184.40m  Fristion
Glole valve: K = E46 1 Emaigy loss iy ;= 15.81m
2 el aibowe Ky = o557 2z Erergy loss fy o= Z7am
Exil ipes: Ky = 1.00 1 Ergrgy loss iy = ZAS M
Elaman! 5: Kz = oap 1 Ergigy loss o= 000 m
Elamar B Ky = o0 i Ergrgy loss fy o = 00 m
Elamand T: K= oap 1 Erergy loss fy 7 = 0A0 m
Elamarn! 8 Ky = .00 i Erergy loss by = 0a0m
Total energy loss by, = 705838 m
Rosuwlis: Tota| bead ocn pump: by = 298,0 m
Pawer added o fluid- Py = 256,08 KW
Pump efficlency = 7600 %
Pawer input io pump: P,= 32,899 KW




11. Series Pipeline System

11.3 Class Il Systems

A Class Il series pipeline system is one for which you
desire to know the volume flow rate of the fluid that
could be delivered by a given system.

e T
e

ne system Is completely described in terms of its
evations, pipe sizes, valves and fittings, and

a

lowable pressure drop at key points in the system.

 We will suggest three different approaches to
designing Class Il systems.

 They vary In their complexity and the degree of
precision of the final result.
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11. Series Pipeline System
11.3.1 Method II-A

e Used for a series system in which only pipe friction
losses are considered, this direct solution process
uses an eguation, based on the work of Swamee and
Jain (Reference 13), that includes the direct
computation of the friction factor.
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11. Series Pipeline System
11.3.2 Method II-B

e Used for a series system in which relatively small
minor losses exist along with a relatively large pipe
friction loss, this method adds steps to the process of
Method II-A.

 Minor losses are initially neglected and the same
equation used in Method II-A Is used to estimate the
allowable velocity and volume flow rate.
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11. Series Pipeline System
11.3.3 Method II-C

 Used for a series system in which minor losses are
significant in comparison with the pipe friction losses
and for which a high level of precision Iin the analysis
IS desired, this method Is the most time-consuming,
requiring an algebraic analysis of the behavior of the
entire system and the expression of the velocity of
flow In terms of the friction factor in the pipe.

e Both of these guantities are unknown because the
friction factor also depends on velocity (Reynolds
number).

* An iteration process Is used to complete the analysis.
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11. Series Pipeline System
Example 11.2

A lubricating oll must be delivered through a horizontal
6-In Schedule 40 steel pipe with a maximum pressure
drop of 60 kPa per 100 m of pipe. The oil has a specific
gravity of 0.88 and a dynamic viscosity of 9.5 x 10-3Pa.

Determine the maximum allowable volume flow
rate of oll.

Figure 11.4 shows the system. This is a Class Il series
pipeline problem because the volume flow rate Is
unknown and, therefore, the velocity of flow is unknown.
Method II-A Is used here because only pipe friction
losses exist Iin the system.
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11. Series Pipeline System

Example 11.2

Ste
Ste
Ste

;Jl\$ L =100 m E_P/_I!._H
@ l | Flow - .

Py — P, =00 kFa

0 1 Write the energy equation for the system.
0 2 Solve for the limiting energy loss .

0 3 Determine the following values for the system:

Pipe flow diameter D

Relative roughness D/e

_ength of pipe L

Kinematic viscosity of the fluid ; may require using
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11. Series Pipeline System
Example 11.2

Step 4 Use the following equation to compute the
imiting volume flow rate, ensuring that all data are In the
coherent units of the given system:

eDh; ! 1784 1
0=-222p % le:(1 —+ —r) (11-3)
VL °\3.7Dfe = DVgDhiL

We use points 1 and 2 shown in Fig. 11.3 to write the
energy equation:
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11. Series Pipeline System
Example 11.2

Then we solve algebraically for h; and evaluate the

result:

_P1L— P _ 60KN m”
¥ m?> (0.88)9.81 kN)

hp = 695 m

Other data needed are:

Pipe flow diameter, I} = 01541 m [Appendix F]

Pipe wall roughness, € = 4.6 10" m [Table 9.1]

Relative roughness, D/e = (0.1541 m)/(4.6 = 1077 m) = 3350
Length of pipe, L = 100m

Kinematic viscosity of the fluid; use

p = (0.88)(1000 kg/m™) = 880 kg/m’
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11. Series Pipeline System
Example 11.2

Then

v =ulp =195 X% 10~ Pa-s) /(880 l-;gfmh = .08 % 107 m/s

We place these values into Eq. (11-3), ensuring that all
data are in coherent Sl units for this problem.

0 = _2220.15412. | OEDOISADGEI5)
A 100

1 (1.784)( 1.08 = 1077 ]
. JL‘IE ] ~ + — - — ]
L3 THIIS0) (0. 1541V (9.81 (0,154 1)(6.95),/ 100

O = L0537 s
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11. Series Pipeline System

11.3.4 Spreadsheet solution for Method II-A Class Il Series Pipeline Problems

* Fig 11.5 shows the spreadsheet for Method II-A Class
Il series pipeline problems.

APPLIED FLUID MECHANICS CLASS || SERIES SYSTEMS
Objective: Volume Flow Rate Method ll=A: No minor losses
Example Problem 11.2 Uses Eq (11-3) to find maximum allowable volume flow rate
Figure 11.4 lo maintain desired pressure al point 2 for a given pressure al point 1
System Data: Sl Metric Units
Pressure at point 1= 120 kPa Elevation at point 1= Om
Pressure at point 2 = 60 kPa Elevation at point 2 = Om
Energy loss: h; = 6.95 m
Fluid Properties: May need to compute » = 5ip
specific weight = 8.63 kN/m? Kinematic viscosity = 1.08E-05 m®/s
Pipe Data:
Diameter: D= 0.1547T m
Wall roughness: e = 4. 60E-05 m
Length: L = 100 m Results: Maximum values
Area: A= 0.01865 m? Volume flow rate: Q = 0.0569 m¥s
Die = 3350 Velocity: v= 3,05 m/s

©2005 Pearson Education South Asia Pte Ltd



11. Series Pipeline System

11.3.4 Spreadsheet solution for Method II-B Class Il Series Pipeline Problems

 Fig 11.6 shows the spreadsheet for Method II-B Class
Il series pipeline problems.

APPLIED FLU|D MECHAN|CS CLASS || SERIES SYSTEMS
Objactiva: Voluma Flow Aate Mathed [-A: No minar [osses
txample Problem 11,3 Uses Eg,(11-3) to eslimale the al|lowable volume flow rabe
Figure, 11,7 to maintain desired pressure ai paint 2 for a given pressure al paint 1
Systam Uafa: =] Matric Units
Pressure al poind 1 = 120 kPa Elevation af painf T = Om
Prossurs al point 2 = 80 kPa Elevation af painf 2 = om
Enargy lass; b, = 5,95 m
Fluid Properties: hay need o compuls & = gip
Specific weight = ALED Kinamalic wiscosiy = 1.08E-05 mrifs
Pipe Data: 8—n Schedule 40 siesl
Déamaler: D= 01541 m
Wall rouginess: ¢ = JE60E-05 m
Langth: L= 100 m Resuils: Maximum values
Arag. A= Q01865 m* Valume Aow rale: O = 0,056 mils
i = J3s0 Vielogily: w= 3,05 mis
CLASS || SERIES SYSTEMS Valume faow rafe: @ = 0,0558 m7s
Mathod U-B: Use resuits of Mothod 14, Given: Pressure g, = 120 kPa
inclyda minor losses; Pressure p,=  E0,18 kPa
ifran prosswre af poiat 2 is computed NOTE: Shouwid be » &0 kPa
Additivnal Pipe Data: Adiust estimate for § until py
LD= 649 is grealer than desired prossure.
Flore walucily = 2,88 mis Velosity at poird 1 = 2,88 mis [ IF velocily is in pips:
Valocily head = 0424 m WVelocity al peint 2 = 2.88 mis | Enler "=B24"
Reynolds Ma. = 4 12E+04 el head al peird 1= 0424 m
Friction fackar: f=  0.0225 Vel head al peint 2= 0424 m
Enevgy Lossas in Pipe 1. Qv
Pioe: Ky = L) = 1478 1 Enargy bags by ;= E26m  Frclion
2 st mitows: K, = 45 2 Enargy kass by »= 038 m
Buittarfly vihve: Ky = 068 1 Enargy lass by 5= 0,28 m
Elamant 47 K, = Q.00 1 Enargy kass by 4= 0,08 m
Elamant & Ky = Q.00 1 Enargy kass by ;= 0,08 m
Elamant & Kﬁ = Rl 1 Enargy lass hyp= 0,0am
Elament 7 Ky = o] [l Enargy |ass by 7= 0,00 m
Elament & Ky = o] [l Enargy |ass by = 0,00 m
[ Tatal amargy loss k.. = B9Im
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11. Series Pipeline System
Example 11.3

A lubricating oll must be delivered through the piping
system shown in Fig. 11.7 with a maximum pressure
drop of 60 kPa between points 1 and 2. The oil has a
specific gravity of 0.88 and a dynamic viscosity of 9.5 x
10-3Pa.s. Determine the maximum allowable volume
flow rate of oll.

The system Is similar to that in Example Problem 11.2.
There are 100 m of 6-in Schedule 40 steel pipe In a
horizontal plane. But the addition of the valve and the
two elbows provide a moderate amount of energy loss.
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11. Series Pipeline System
Example 11.3

| f s 5 T
Fully opened i
butterfly All pipes are 6-in
Schedule 40 steel

valve

Standard Piping system is in
elbows a horizontal plane

{2}

Initially, we ignore the minor losses and use Eq. (11-3)
to compute a rough estimate of the allowable volume
flow rate. This is accomplished in the upper part of the
spreadsheet in Fig. 11.6 and it is identical to the solution
shown in Fig. 11.5 for Example Problem 11.2. This is the

starting point for Method II-B.

©2005 Pearson South Asia Pte Ltd



11. Series Pipeline System
Example 11.3

1.Arevised estimate of the allowable volume flow rate Q
IS entered at the upper right, just under the
computation of the Iinitial estimate. The revised
estimate must be lower than the initial estimate.

2. The spreadsheet then computes the “Additional Pipe

Data” using the known pipe data from the upper part
of the spreadsheet and the new estimated value for Q.
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11. Series Pipeline System
Example 11.3

3. Note at the middle right of the spreadsheet that the
velocities at reference points 1 and 2 must be entered.
If they are In the pipe, as they are In this problem, then
the cell reference “B24” can be entered because that
IS where the velocity In the pipe Is computed. Other
problems may have the reference points elsewhere,
such as the surface of a reservoir where the velocity Is
zero. The appropriate value should then be entered In

the shaded area.
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11. Series Pipeline System
Example 11.3

4. Now the data for minor losses must be added in the
section called “Energy Losses In Pipe 1.” The K factor
for the pipe friction loss Is automatically computed
from known data. The values for the other two K
factors must be determined and entered Iin the shaded
area in

a manner similar to that used In the Class | spreadsheet.
In this problem they are both dependent

on the value of f; for the 6-in pipe. That value iIs 0.015 as

found in Tahle 10 K
a Elbow (standard): K = fr(L,/D) = (0.015)(30) = 0.45
a Butterfly valve: K = fr(L,/D) = (0.015)(45) = 0.675
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11. Series Pipeline System
Example 11.3

5. The spreadsheet then computes the total energy loss
and uses this value to compute the pressure at
reference point 2. The equation is derived from the
energy equation,

P2 =py + vz —z2 + vif2g — vif2g — Ryl
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11. Series Pipeline System
Example 11.3

6. The computed value for p, must be larger than the
desired value as entered in the upper part of the
spreadsheet. This value is placed close to the
assumed volume flow rate to give you a visual cue as
to the acceptability of your current estimate for the
imiting volume flow rate. Adjustments in the value of
Q can then be quickly made until the pressure
assumes an acceptable value.
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11. Series Pipeline System

11.3.5 Method II-C: Iteration Approach for Class Il Series Pipeline Problem

Below are the solution procedure for class ii systems
with one pipe:
Write the energy equation for the system.

Evaluate known guantities such as pressure heads
and elevation heads.

Express energy losses in terms of the unknown
velocity v and friction factor f.

Solve for the velocity In terms of f.

Express the Reynolds number in terms of the
velocity.
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11. Series Pipeline System

11.3.5 Method II-C: Iteration Approach for Class Il Series Pipeline Problem

6. Calculate the relative roughness D/e.

7. Select a trial value of f based on the known D/ and a
Reynolds number in the turbulent range.

8. Calculate the velocity, using the equation from Step 4.
9. Calculate the Reynolds number from the equation in Step 5.

10. Evaluate the friction factor f for the Reynolds number from
Step 9 and the known value of D/g, using the Moody diagram,
Fig. 8.6.

11. If the new value of f is different from the value used in Step 8,
repeat Steps 8—11 using the new value of f.

12. If there is no significant change in f from the assumed value,
then the velocityfound in Step 8 is correct.
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11. Series Pipeline System
Example 11.4

Water at 30°C is being supplied to an irrigation ditch
from an elevated storage reservoir as shown in Fig.
11.8. Calculate the volume flow rate of water into the
ditch. Begin with Step 1 of the solution procedure by
writing the energy equation. Use A and B as the
reference points and simplify the equation as much as
possible.

Compare this with your solution:
Pa . ™A P, ., 'R

; . “
¥ =g Y ~g
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11. Series Pipeline System
Example 11.4

9.0 m

e

Long-radius elbow

Because p,=pg=0, and v, Is approximately zero, then

i
g + (vB/ 2g)

Iy —
Is — Ig = fr-ﬁ,’f,g} + hy (11-4)
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11. Series Pipeline System
Example 11.4

There are four components of the total energy loss

fi'Lz.lFi'l-l—ﬁg-l-.lFi'j-l-ﬁ_e;
hy = l.ﬂ{z!ﬁfﬁg} lentrance loss)
hy = FIL/D)(vh/2g) (pipe friction loss)
= £(99,/0.1023)(vg/2g)
= 967.7f(vg/2g)

hy = f T[Lr:,-";D:":T-'?EI-";E,.E':' (long-radius elbow)
= 20fr(v/2g)

hy = f T[Le,-fﬂ]"it-'?ﬁf?g} (half-open gate valve)
= 160fr(vh/2g)
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11. Series Pipeline System
Example 11.4

From Table 10.5, we find fr = 0.017 for a 4-m steel pipe.
Then we have

e = (1.0 + 967.7F + 20fr + 160fr )(vi/2g)
= (4.06 + 967 .7f )(vs /2g) (11-5)

You should have

vp = /23544 /(5.06 + 967.7f)
Iy — Ip = [uﬁ..-"d,_e]l + hr
12m = (vg/2g)+ @06+ 967.7F ) (vg/2e)

= (5.06 + 967.7F)(vi/2g)
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11. Series Pipeline System
Example 11.4

Equation (11-6) represents the completion of Step 4 of
the procedure. Now do Steps 5 and 6. We get

22012) | 23544 _ _
vp = | : = (11-6)
V506 4+ 967.7F N 5.06 + 967.7f
D 01023 - -
Np = Ve ~ sl :I = (1.274 X 10" jvg (11-7)

v 803 x 1077
D/fe = (0.1023 /457 ¥ 107"} = 2238

We find the values for velocity and the Reynolds number
by using Eqgs. (11-6) and
(11-7):

135 s
— 23544 = \/0.644 = 3.105 ms
Vo5.06 + (967.7)(0.02)

Ni = (127 = 10°7%3.105) = 3.94 x 107
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11. Series Pipeline System
Example 11.4

You should have f=0.0175. Because this is different
from the initial trial value of f, Steps 8—11 must be
repeated now.

B 235.44
Y 5.06 4+ (967.7)30.0175)
Ne = (127 % 10°P3.27) = 4.15 = 10°

UB = 327 mfs

vg = 327 m/s

0 = Aprp = (B.213 X 107 m?)(3.27 mfs) = 0.027 m-/s
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11. Series Pipeline System
11.4 Class lll Systems

A Class lll series pipeline system is one for which you desire
to know the size of pipe that will carry a given volume flow
rate of a given fluid with a specified maximum pressure drop
due to energy losses.

Velocity is inversely proportional to the flow area found from
4 = 7D%4

Therefore the energy loss is inversely proportional to the flow
diameter to the fourth power.

The size of the pipe is a major factor in how much energy
loss occurs in a pipeline system.
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11. Series Pipeline System
11.4.1 Method llI-A

 This simplified approach considers only energy loss
due to friction in the pipe.

« Weassume that the reference points for the energy
equation are in the pipe to be designed and at a set
distance apart.

 Because the flow diameter is the same at the two
reference points, however, there is no difference In
the velocities or the velocity heads.

« Wecan write the energy equation and then solve for
the energy loss,

3 ]
P_J.-+:J+_I'-_]_|;IL=_.+3'|+__.
Y 2g Y 2g
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11. Series Pipeline System
11.4.1 Method llI-A

« Butv; =v,. Then we have

hy = PJ': P2

+ I — I9

=

This value, along with other system data, can be
entered into the following design equation (see
References 12 and 13):

. 23475 L 5270004
D = 1}.&-6[51"5 (LQ ) + pQ>* (—) } (11-8)
ghr ghy
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11. Series Pipeline System
11.4.1 Method llI-A

e The result Is the smallest flow diameter that can be

used for a pipe to limit the pressure drop to the
desired value.

 Normally, you will specify a standard pipe or tube
that has an inside diameter just larger than this
limiting value.
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11. Series Pipeline System
Example 11.5

Compute the required size of new clean Schedule 40
pipe that will carry 0.014 m3/s of water at 15°C and limit
the pressure drop to 13.79 kPa over a length of 30.5 m

of horizontal pipe.

We first calculate the limiting energy loss. Note that the
elevation difference Is zero. Write

hy = (py — pa)fy + (zy — z2) = (13.79 kPa/0.81 kN/m®) + 0 = 1.402 m

0 = 0.014 m/s L= 305m g = 9.8 m/s’
hp = 1402 m €= 4572 % 1077 m v = 1.15 % 107° m%s
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11. Series Pipeline System
Example 11.5

Now we can enter these data into Eq. (11-8):

D = (.66 {.{4 577 v [O—512 |:f3‘| LS 0.014)2 T..‘-i

(981 1.402)
~ . . 305 3.2 [0.04
+ (1.15 > 1070001454
(981 1.402)
D = (0.098 m

The result shows that the pipe should be larger than
D=0.098 m. The next larger standard pipe size Is a 4-in

Schedule 40 steel pipe having an inside diameter of
D=0.1023 m.
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11. Series Pipeline System

11.4.2 Spreadsheet for Completing Method IlI-A for Class lll Series Pipeline Problems

 Fig 11.9 shows the spreadsheet for Method IlI-A for
Class Ill series pipeline problems.

minimum size of pipe of a given length
that will flow a given volume flow rate of fluid

3. with & limited pressure drop. (N minor losses)
Frassure at point 1 = 673.2 kFa Filuid Properties:

Pressure at point 2 = 660 kPa Specific weight = 981 I-chms
Elevation at poiit 1 = ogm Kinematic Viscosity = 1 156-06 m*/s

Efevation at point 2 = gm Intermediate Results in Eq. 11-13:
Allowable Energy Loss: h, - 135 m Ligh, = 2272727
Volume flow rafe; Q) = 0.06 ms Argument in bracket;, 2.75E-16
Length of pipe’ | = 30 m " Final Minimum Diameter:

Fipe wall roughness: e = 1,50E-06 m Minimum diameter D = 01574 m
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11. Series Pipeline System
11.4.3 Method llI-B

Fig 11.10 shows the spreadsheet for Method IlI-B for

Class Ill series pipeline problems.
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Ol Al s Eqeratot T -T2

TTNPITANT e of g of @ griean angrh
st wdl Moy 3 given wovlemes ow (sl of Muld'

———————
O GO OLEE e

_W wilra dimited presswe dicn (VO mrinor Kssas)
Frecsura ot pont 1 = A722 kB2 s
Preiiiine & poind 2 = SED WP Spacilfic waerht = BT WMATT
Efanvation a pont 1 = gm firamane Wacosiy = 1 10E-08 M
Elpvaticn o penr 2 « & m Fietmadaie Fesulls n Eq, 11-10
Afcerable Enemgy Loss: by s 13 m Lighy = 227ETET
Valume flow e 0 = 008 mis Argumant in brackel 2.75E-148
Lanphalopa L= Mm mnlmum Emn‘utﬁr:
Frpg wall roughness’ &= 1.508-08 Wmyirmam digmaetar; D = 04574 m
EF_;M_FI.IPI et J,-J = OOWrEr m

A.inoh Type H coppar iube

ﬁb’ﬁ#ﬁ-fyr’a in the pipe, enter B for varle

|ehmi al-Foinf s cormpubed. Vakicdy = point 7 = .88 mis
Ackdlfional Pige Dara. Valocity o poirm 2 = T e
Flpw areas 4 = DOOTFE3R rr" Vol hoad ot pomt 1 = 133 m
Retalve roughmess O = 853 Wal, head &l poant 2 = 3220 m
LiD = 303 L5
Floww Wedooity = 755 s (hvest presaLneg S oy 1 = Gri.2 WFa
Vehooly head = 127 mi (Dl e e ) Sy 2 e BED HFa
Reynolda Mo = § TEEHDS Achaf pregeure s point 28 55003 kPa
Fncbonmcion f = §m a7 {Actus g, shouid be > dosirod prozsii)
[Energy oasas in Pipa. " Tty
P Fricican & = FLOJ = el 1 Ermrgy us by = 12685 m
Elomait 2 Ky = oos Erargy besfi g = D m
Elomant 3 Ky = ona i Erargy bes ity = 00 i
Elemant 4 Hy = o T Ersrgy 55 g = 0oam
Elemort 5§ #, = ong  f Enatoy loEs iy = 000 m
Emenf 8 My = R 1 Erengy Oss g = D m
Eamakt f Ky = o0 1 Sty les iy = La m
Elameri B Wy = AN I EnErgy bes gy = 000 m
| l'olal enengy 086 & e = 12 86 m




11. Series Pipeline System
Example 11.6

Extend the situation described in Example Problem 11.5
by adding a fully open butterfly valve and two long-
radius elbows to the 30.5 m of straight pipe. Will the 4-
Inch Schedule 40 steel pipe size selected limit the
pressure drop to 13.79 kPa with these minor losses
added?

To simulate the desired pressure drop of 13.79 kPa, we
have set the pressure at point 1 to be 703.26 kPa. Then
we examine the resulting value of the pressure at point 2
to see that It Is at or greater than 689.48 kPa.
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11. Series Pipeline System
Example 11.6

The spreadsheet in Fig. 11.10 shows the calculations.
For each minor loss, a resistance factor K is computed
as defined in Chapters 8 and 10. For the pipe friction
loss,

K| = fle.-"..D]

and the friction factor f iIs computed by the spreadsheet
using Eqg. (8—7). For the elbows and the butterfly valve,
the method of Chapter 10 is applied. Write

K = fr(L.,/D)

©2005 Pearson Education South Asia Pte Ltd



11. Series Pipeline System
Example 11.6

The result shows that the pressure at point 2 at the end
of the system Is 692.65 kPa. Thus the design Is
satisfactory. Note that the energy loss due to pipe friction
IS 0.863 m out of the total energy loss of 1.082 m. The
elbows and the valve contribute truly minor losses.
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11. Series Pipeline System

11.5 Pipeline Design for Structural Integrity

Piping systems and supports must be designed for strength
and structural integrity in addition to meeting flow, pressure
drop, and pump power requirements.

Consideration must be given to stresses created by the
following:

Internal pressure
Static forces due to the weight of the piping and the fluid

Dynamic forces created by moving fluids inside the pipe (see
Chapter 16)

External loads caused by seismic activity, temperature
changes, installation procedures, or other application-specific
conditions
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11. Series Pipeline System
11.5 Pipeline Design for Structural Integrity

o Structural integrity evaluation should consider pipe
stress due to internal pressure, static loads due to
the weight of the pipe and its contents, wind loads,
Installation processes, thermal expansion and
contraction, hydraulic transients such as water
hammer caused by rapid valve actuation, long-term
degradation of piping due to corrosion or erosion.
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11. Series Pipeline System
11.5.1 Basic Wall Calculation

Careful attention to unit consistency must be
exercised.

The basic wall thickness must be adjusted as
follows:

L. =1+ A (11=110)

FH

where A Is a corrosion allowance based on the
chemical properties of the pipe and the fluid and the
design life of the piping.
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11. Series Pipeline System
11.5.1 Basic Wall Calculation

The nominal minimum wall thickness is computed
from

foom = Tmin/ (1 — 0.125) = tnin/0.875) = 1143t (11-11)
! = 1.143 pD + A (11-12)
o T 2(SE + pY) -
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11. Series Pipeline System
11.5.2 Stress Due to Piping Installation and Operation

 External stresses on piping combine with the hoop
and longitudinal stresses created by the internal fluid
pressure.

 You should carefully design the supports for the
piping system to minimize external stresses and to
obtain a balance between constraining the pipe and
allowing for expansion and contraction due to
pressure and temperature changes.
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